RN &5

19664 Triumph Tiger 800 & Explorer 1200 Headlight Guard Fitting Instructions

KiT Includes:
4X M5 X 70mm Button Head Socket Bolts

4X M5 Steel Washers *
12X Black Spacers *

e Remove the four OEM Bolts highlighted RED in Fig 1.

® Prepare the supplied fittfings in the order shown In Fig 2. This will need o be repeated
fthree more times for each corner of the headlight.

® Fit the Pyramid Headlight Guard to the mounting points mentioned in Fig 1 using the
assembly shown in Fig 2. Fasten all fittings evenly - check fittings periodically.

Note: Pyramid Headlight Guard
fits between the M5 Steel Washer
& the closest Black Spacer.

Black M5 Steel M5 X 70\mm Bution
Spacer Washer Head Socket Bolt

Contact us:
sales@pyramid-plastics.co.uk - +44 (0)1427 677990 - www.pyramid-plastics.co.uk

Follow us on social media and feel free to leave us a review!

You

RN &5

19664 Triumph Tiger 800 & Explorer 1200 Headlight Guard Fitting Instructions

Kit Includes:
4X M5 X 70mm Button Head Socket Bolts

4X M5 Steel Washers *
12X Black Spacers *

® Remove the four OEM Bolts highlighted RED Iin Fig 1.

® Prepare the supplied fittings in the order shown In Fig 2. This will need o be repeated
fthree more times for each corner of the headlight.

® Fif the Pyramid Headlight Guard to the mounting points mentioned in Fig 1 using the
assembly shown in Fig 2. Fasten all fittings evenly - check fittings periodically.

Note: Pyramid Headlight Guard
fits between the M5 Steel Washer
& the closest Black Spacer.

Black M5 Steel M5 X 70\mm Bution
Spacer Washer Head Socket Bolt

Contact us:
sales@pyramid-plastics.co.uk - +44 (0)1427 677990 - www.pyramid-plastics.co.uk

Follow us on social media and feel free to leave us a review!

You



